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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-15 0
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P3-15

BfiE) | GEBRTIK () | EBRE (EA/) | EREE(B/R) | XS R

07:10 288 150.0 2. 888 i FEA@O7:10 KRENFEF (RE{EREEE)
07:45 288 150.0 2.888 BBl BiT7e07:45 RHEF (REEER)
08:25 288 150.0 2.888 FA TiHAe08:25 RIMIZEF CGRAKZHES)
09:20 288 150.0 2. 888 1] FiE@09:20 REFEF (KFAEER)
10:05 288 150.0 2.888 ] 7iE@10:05 REFEF (KHAERE)
10:45 288 150.0 2.888 Uz FifAe10:45 KREMIZF (RAFZHE)
11:20 288 150.0 2. 888 1] Fie11:20 REEF (KREEER)
11:55 288 150.0 2.888 Iz FiHfe11:55 REEF (KREAERSE)
12:30 288 150.0 2.888 ] FifAe12:30 REMIZF (RAEZEE)
13:05 288 150.0 2.888 iz FiA@13:05 KREFZF (KRAFZHE)
13:40 288 150. 0 2.888 ] FiHAe13:40 RHIEF CREAERES)
14:15 288 150.0 2.888 ] FifAe14:15 KRMIEF CGRAEZERE)
14:50 288 150.0 2.888 iz FifAe14:50 KREIZF (RAFZHE)
15:30 288 150.0 2.888 Iz Fiff@15:30 REEF (KEAEZRR)
16:10 288 150. 0 2.888 FA fiHAe16:10 RHMIEF CRAMLESR)
17:00 288 150.0 2.888 ] FiAe17:00 REFZF (KAFZHE)
2it] 4608.0 (16)%) 2400.0 3233 %EC: 2080.0, PH: 6.0

FEIKRECE (1773.0 vs 5123.0) d5




FRV (ml plant-1)

ET (ml/hr/plant)

P3-15_0, Day=66 (2025-06-05)
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P3-15

FfiE) | EBIATK (FD) | ERE (BEA/4) | BEREE(B/R) | XS ERE

07:00 288 150.0 2. 888 S| 1Ri%e07:00 B (RF{EREE)
07:35 288 150.0 2. 888 BE| {Ri&e07:35 Bal (REERHSE)
08:05 288 150.0 2.888 BE| {RRi%e08:05 Bz (RFEAERHE)
08:35 288 150.0 2. 888 BE| {Ri%e08:35 Bz (REAMEREE)
09:05 288 150.0 2.888 S| 1Rige09:05 Bah (FREEESE)
09:40 288 150.0 2.888 RS {Ri%009:40 Bl (REAEHE)
10:20 288 150.0 2. 888 e Ri8@10:20 Bz (REAERSE)
11:05 288 150.0 2.888 el Rige11:05 Bal (REERESE)
11:50 288 150.0 2.888 el Rige11:50 Bz (REAERSE)
12:30 288 150.0 2. 888 e Rige12:30 Bz (REAERSE)
13:10 288 150.0 2. 888 Bl Rige13:10 Ba) (REAEESE)
13:45 288 150.0 2.888 BE| Rige13:45 B (REAEHSE)
14:15 288 150.0 2.888 BS| 1Rige14:15 Bz CGREEESE)
14:45 288 150.0 2.888 S| Ri%e14:45 Bz (REERSR)
15:15 288 150.0 2.888 B Rige15:15 Bz (REAERSE)
15:45 288 150.0 2.888 BS| 1Ri%e15:45 Bz CGREEESE)
16:20 288 150.0 2. 888 S| 1Ri%e16:20 B (RF{EREE)
17:05 288 150. 0 2.888 5| {Rige17:05 B3h (KRPERKSE)
2it]5184.0 (18%) 2700. 0 3ESHKEC: 2080.0, PH: 5.8

FEREHEME STEAEARST (187.0 : 150.0), AIEEAT—@%E XAHE
ZRIAKFRERE150. 0 ml.

large discrepency for begining water status (340:60.0), set to 340 ml.
BEEIFKRECE (1780.0 vs 5127.0) T



FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

P3-15_0, Day=65 (2025-06—04)
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34 A —o— M_E
33 A
32 A
31 A
920 925 930

34.

33.

33.

32.

32.

31.

31.

34.

33.

33.

32.

32.

31.

31.

m=535, FV0=0

34 -

33 A

32 -

31 -

—0—

M_E

5&0 5&5
m=685,n FV0=0

34 1

33 -

32 A

31 -

—0—

M_E

GéO 6é5
m=820,n FV0=0

—0—

M_E

820

Bé5 850
m=955,n FV0=0

0_

——

M_E

955

960 965




m=990, FV0=0 m=1035, FV0=0 m=465, FV0=0

—— ME —0— ME 49 - —0— MW —0— MW
34.0 A 34.5
33.5 - 40 -
34.0 A
33.0 38 -
32 5 - 36 4 33.5 A
32.0 1 24 53,0
T T T 31.5 +5 T T T T T T T T
990 995 1000 1035 1040 1045 600 800 1000 465 470 475
m=500,m FV0=0 m=535,m FV0=0 m=580,m FV0=0 m=615,m FV0=0
39 A 40 A
—-— MW 38.01+ —@— MW —0— MW —0— MW
37.5 1 . 20
37.0
36.5 - 37 4 38 -
36. 0
37 +
36
35.5
T T T T T T T T T T T T
500 505 510 535 540 545 580 585 590 615 620 625
m=650,m FV0=0 m=685,m FV0=0 m=715,m FV0=0 m=745,m FV0=0
40.0 A 40.5 A
—0— MW - MW 40. 0 —-@— MW —0— MW
39.5 A 40.0 +
39.5 ~
39.0 + 39.5 A
39.0
38.5 A 39.0 A
38.5
38. 0 A i
38.0 4 38.5
37.5 i
37 54 38.0
37.0 A
? T T T T T 37.0 T T T 37.5 1 T T T
650 655 660 685 690 695 715 720 725 745 750 755
m=780,m FV0=0 m=820,m FV0=0 m=855,m FV0=0 m=885,m FV0=0
41.5 +
-0— MW 4104 -o— MW 41.0 - -0— MW -0— MW
40.5 40.5 41.0-
40.0 1 400 40.5 -
39.5 - 2.5 - 40.0 -
39.0 A
39.0 39.5 +
38.5
T T T T T T 38. 5 - T T T 39.0 = T T
780 785 790 820 825 830 855 860 865 885 890 895



m=920, FV0=0

42.0

41.5 A

41.0 -

40.5

40. 0 -

39.5 A

—o—

M_W

920

T
925

930

m=935, FV0=0

42.5 -

42.0 A

41.5 -

41.0 A

40.5 -

40.0 A

—O—

M_w

955

T
960

T
965

m=990, FV0=0

42.5 1 —— MW
42.0
41.5
41.0 A
40. 5

T T T

990 995 1000

m=1035, FV0=0

—— MW
42.5 A
42.0 A
41.5 A
41.0 A
40. 5 A
T T T
1035 1040 1045
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P3-15

BYiE) | GEBRTIK () | EBRE (EA/) | EREE(B/R) | XS R

07:15 300 150.0 2. 888 B {Ri&e07:15 Fzh (REAERSE)
07:50 300 150.0 2.888 RS {Ri&@07:50 Fz (REAEHE)
08:35 300 150. 0 2.888 BE| 1BRi%e08:35 Fzh (KRFIEREE)
09:15 300 150. 0 2.888 s 1BRi%e09:15 Fzh (REERSE)
09:55 300 150.0 2.888 RS {Ri&e09:55 Fz (REAEHE)
10:40 300 150. 0 2.888 BE| 1Ri%e10:40 Fzh (KAL)
11:30 300 150. 0 2.888 e Bi%e11:30 Fz (REERSE)
12:10 300 150.0 2.888 el Rige12:10 Fz (REAEHE)
12:50 300 150. 0 2.888 BE| Ri%e12:50 Fzh (REAERSE)
13:30 300 150. 0 2.888 el Rige13:30 Fz (REAEEE)
14:00 300 150.0 2.888 sl Rige14:00 Fz (REAEHE)
14:35 300 150.0 2.888 BS| 1Ri%e14:35 Fzh CGREAEESE)
15:10 300 150. 0 2.888 Bl Rige15:10 Fzi (REEESE)
15:45 300 150.0 2.888 RS Rige15:45 Fz (REAEHE)
16:20 300 150.0 2.888 BS| 1Ri%e16:20 Fz (GREAEESE)
17:10 300 150. 0 2.888 BE| BRi%e17:10 F3h (GGRFEAERESE)
23t 4800.0 (16)%) 2400.0 333 KEC: 2080.0, PH: 5.7

TERRHLER 2 STEELRTF (184.0 :

ZRIAEBRIERE147.0 ml.

HEEHECE (1860.0 vs 5173.0) 15

147.0), AlEEHT—R % XA HS




P3-15_0, Day=64 (2025-06-03)

150 Fm———=—F——————F——————F——————F-—————F——————F-—————F-—————F——————f-—————F-—————f——————] i
VI V%RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 3000
2300

100 A

50

200 -

100 A

FRV (ml plant-1)

778

Warning: lcol [FVI',| "FVO’'] missing

FRV (ml d-1)

20059

773 2000
- 1000
0

1.0

Warning: lcol ["WC1',  "WC2'] missing

- 32

< 30 El

- 28

26

optEC0=2600. 0,

setECB=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5,

setPHB=5. 7

Warning: lcol ['PHB’,| 'PHC’'] missing

200

100 A

ET (ml/hr/plant)

300

]
Bylnit [0D66 02:01: ET=1843 Fg=2250.0 Ro=323.0
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0.5 A
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34

32

30

28

400

T T
600 800

m=605,m FV0=0

33 A

32 A

31 4

30 -

T T
610 615

m=780,m FV0=0

33 A

32 -

31 A

30 -

780

785 790

m=973,m FV0=0

34

33 -

32

31 4

975

980 985

m=440, FV0=0

32 -

31

30 -

29 -

28 A

27 L5

440

T T
445 450

m=650,m FV0=0

33 A

32 A

31 A

30 -

650

T T
655 660

m=830,m FV0=0

33 A

32 A

31

30 A

830

835 840

41

40

39 A

38 A

37 A

36

400

600 800

m=485, FV0=0
33
32
31
30
485 490 495
m=695,m FV0=0
33
32
31
30
695 700 705
m=875,m FV0=0
33
32
31
875 880 885
m=440,m FV0=0
40 A
—o—
39
38
37
36
440 445 450

m=550, FV0=0

33 A

32 -

31 A

30 A

565 5é0
m=735,n FV0=0

33 A

32 -

31 A

30 A

7&0 7&5
m=930,n FV0=0

33 A

32 -

31 A

30 A

930

Qé5 940
m=485,n FV0=0

41.0

40. 5

40.0

39.5 -

39.0 -

38.5 -

485
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m=590, FV0=0

40.5 A

40.0

39.5 A

39.0 A

38.5
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—o—

M_Ww
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m=735,n FV0=0

T
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39 A

38 -
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m=650, FVO0=0
—o— MW
40 -
39 -
38 -
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m=830,m FV0=0
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39 -
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37 1
T T T
830 835 840
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40 ~

39 -
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P3-15

BYiE) | GEBRTIK () | EBRE (EA/) | EREE(B/R) | XS ETE

07:40 288 150.0 2. 888 RS {Ri&e07:40 Fz (REAEHE)
08:15 288 150.0 2.888 BE| {Ri&e08:15 Fz (REAEHEE)
08:55 288 150.0 2. 888 RS {Ri&e08:55 Fz (REAEHE)
09:30 288 150.0 2.888 S| {Ri8e09:30 Fx (REEEHE)
10:15 288 150. 0 2.888 S| Ri&@10:15 Fzi1 (REEESE)
11:05 288 150.0 2. 888 e Rige11:05 Fzy (REAEHSE)
11:55 288 150.0 2.888 el {Rige11:55 Fz (REEESE)
12:35 288 150.0 2.888 S| Rige12:35 Fz (REAEHE)
13:05 288 150.0 2.888 |Z=| {Ri%e13:05 Fz1 (KREAEHE)
13:35 288 150.0 2.888 |Z=| {Ri&e13:35 Fzi (KEAEHE)
14:05 288 150.0 2.888 |Z=| 1BRige14:05 Fzh (KAEESE)
14:35 288 150.0 2.888 |Z=| {Rige14:35 Fz1 (KREEHE)
15:05 288 150.0 2.888 |Z=| {Ri&e15:05 Fz (KEAEHE)
15:35 288 150.0 2.888 |Z=| 1BRi&e15:35 Fzh (KAEESE)
16:10 288 150.0 2.888 |Z=| {Rige16:10 Fz1 (KREEZEHE)
16:55 288 150.0 2.888 | =| {Ri&e16:55 Fz (KEAEHE)
21t 4608.0 (16)%) 2400. 0 3233 %EC: 2080.0, PH: 5.6

TERRHLER 2 STEEARTF (195.0 :

ZRIALBRERE156. 0 ml.

[E&EC 5690.0 K&, #iYF{KECAE&HikER
FHERECE (1907. 0 vs 5690. 0) 15

156.0), AEEHT—@ % XA HS




FRV (ml plant-1)

ET (ml/hr/plant)

P3-15_0, Day=63 (2025-06—02)

ET (ml/hr/plant)

ET (ml/hr/plant)

150- ------------------------------------------------------------------------------------- - 3000
VI, VO, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2706
2300 [ ~
do4 T
100 - 2000 ©
E
] 935 s
90 1750 634 1000 &
00 Warning: lcol [FVI',| "FVO’'] missing 20
0 + -0
v —— ME B350
200 -
FRV maxM L 30 5
- 30.0
100 + T
F27.5
F25.0
1.0
1
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 optEC0=2600. 0, setECB=2080.0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=5.6 t
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
Bylnit l@D66 02:01: ET=1643 Fg=1800.0 Ro=244.0 ?3000 o
300 ~ : <
| e
200 - 1 - 2000 >
1 \/\/ E
I /d/l I i
| I e - 1000 '
100 I £
che—a—%—=¢ I .
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200 A | 2c|2c|2=5|Z5|2=| B | B | B | B i 5 5 5 i 5 5 5 5 | B 5 5 i & I 3000
_ 1 [
ByEt @D63 19:21: ET=2038 Fg=2129. 0 Ro=nan 1 =2
200 /\ 1 d ® ® - 2000 §'
1 E
T 1 | -
100 - — i - 1000 £
1 o
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0 1 2 3 4 5 6 7 8 13 14 15 16 17 18 19 20 21 22 23
200 EHEREAE A EEREAEEA ARG 5 | K& 5 EERERAREREEEEEA LR EEARS 5 & I 3000
. 1 C
ByWoFv @D66 02:01: ET=1994 Fg=2400.0 Ro=533.0 ® ® ® -g
| &—&—® | 00>
200 A 1 =
I E
1
'—
100 : - 1000 A
| 3
) 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
0sl B |ZE|ZTR| ST |25 (3|5 (B [ BB | B i 5 EEREREREREEEEARS B |[Z=| B i 5
0.6 -
0.4 1
0.2 A
2806 3
—_— 4
| _obs
PPFD_obs
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RH_obs
RHo _obs




T T T
700 800 900

m=665,m FV0=0

600

33 -

32

31 4

30

29 A

—0—

i
f

6%0 6%5
m=785,n FV0=0

34 -

33 -

32 -

31 4

30

785 790 795

m=900,m FV0=0

34 -

33 -

32 A

31 -

30 A

-o— ME

7S
tid

900 905 910

33.

33.

32.

32.

31.

34.

34.

33.

33.

32.

34.

34.

33.

33.

32.

m=550, FV0=0

30 A

29 A

28 -

27 -

26 -

25 A

—o— ME

565 5é0
m=670,n FV0=0

5

—o— ME

6;5 GéO
m=790,n FV0=0

—o— ME

it

755 860
m=910,n FV0=0

790

-o— M_E

910 915 920

m=580, FV0=0 m=625, FVO0=0
32
31 4 —0— ME —— ME
31
30 A
30
29 -
29
28 -
28
27 +
T T T T T T
580 585 590 625 630 635
m=725,m FV0=0 m=730,m FV0=0
—&— ME 34.5 4 —0— ME
34 +
4.0 -
33 | 34.0
39 - 33.5 4
31 4 33.0 +
30 + 32.5 -
T T T T T T
725 730 735 730 735 740
m=845,m FV0=0 m=850,m FV0=0
—— ME —— ME
34.5
34
33 34.0 +
32 33.5
31 4
33.0 +
30 +
32.5 1
845 850 855 850 855 860
m=965,m FV0=0 m=970,m FV0=0
35
—— ME —o— ME
34 - 34.5 4
33 a 34 0 .
32 + 33.5 +
31 4 33.0 +
965 970 975 970 975 980




32 -
T T T T T
600 700 800 900 1000
m=665,m FV0=0
—o— MW
35. 5
35.0 -
34.5
34.0 -
33.5 -
T T T
665 670 675
m=785,m FV0=0
—o— MW
42
41
40 -
39 -
38
37 ] T T T
785 790 795
m=900,m FV0=0
43] —® MW
42
41
40 -

900 905 910

m=530, FV0=0

33. 75 A

33. 50 A
33. 25 A
33. 00 A
32. 75 A

32.50

32. 25 A

M_W

5%5 5é0
m=670,n FV0=0

35.75 A

35. 50 A
35. 25 ~
35. 00
34.75 A

34. 50 A

—— MW

6%5 GéO
m=790,n FV0=0

42.5 A

42.0 -

41.5 A

41.0 -

40.5 A

40. 0 -

—— MW

i

7é5 860
m=910,n FV0=0

790

43. 25 A

43. 00

42.75 A

42.50 A

42.25 A

42. 00

-o— MW

ik
O

910 915 920

m=580, FV0=0
36 17 —@— M_W
35 -
34 -
33 -
5éo 5é5 550
m=725,m FV0=0

40 -

38 A

36

—— MW

\

34
755 750 755
m=845,m FV0=0
437 —o— MW
42
41
40 -
39
8£|15 8€I'>O 355
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40 -

- MW

970 975
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34

33
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42.
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43.
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m=625, FV0=0
—— MW
.5 -
e
.5 -
e
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m=730,m FV0=0
41 7 —o— MW
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38
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750 7§5 7;10
m=850,m FV0=0
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5 -
0 .
5 -
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m=970,m FV0=0
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4 .
2 .
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8 .
6 .
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P3-15

RyiE) | EBIATK (FD) | ERE (EA/4) | EBREE (B/R) [XKS EFRF

09:50 288 150.0 2.888 |Z=| {Ri%e09:50 Bz (KREEHE)
10:45 288 150.0 2.888 [Z=| 1Ri%010:45 Bzh (REEESE)
11:40 288 150.0 2. 888 FH| 1Ri%@11:40 B3h (GRAERSE)
12:35 288 150.0 2.888 FA| {Ri&@12:35 Bz (GRAEEE)
13:40 288 150.0 2. 888 FH| 1BRi%@13:40 Bz (kBERSE)
15:00 288 150.0 2.888 FA| {Ri&@15:00 Bzl (GkAEEE)
16:20 288 150.0 2.888 FA| {Ri&@16:20 Bz (GRAERE)
23t]2016.0 (70%) 1050. 0 32 HKEC: 2080.0, PH: 5.6

TERRHLER 2 STEELRT (187.0 :

BRIASKRRERE144. 0 ml. B
[E/REC 6290.0 K&, EINLFKECAE & MEE R
HEEIHECE (2007.0 vs 6290.0) 5

144.0), FlEEHT—R % XA HS




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

25.0 4

22.5

20.0

17.5 4

15.0

P3-15_0, Day=62 (2025-06-01)

150 A

100 A

50

VI, V"RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET i

1100
13 935 L

750 [|726/6

00 00

Warning: lcol [FVI',| "FVO’'] missing

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
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200 -

]
Bylnit [oD66 02:01: ET=1874 Fg=2100.0 Ro=449.0 +

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

400

200 -
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ByEt @62 19:06: ET=873 Fg=750.0 Ro=nan

—o—o—o—o |
e e o

& —o —o —0 & |
— V" S S — — e e T R
1 2 3 4 5 6 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

400

200 -

7
M| BB [K[dm| T | F | T | ZT =% | H | H | H [ [ [BA[BH]|B|B|MBHI|ZE|EE|FE
]
ByWoFv PDGG 02:01: ET=776 Fg=1050.0 Ro=172.0

1
1
i o —0—0—8—9—9 |
<] k++4—.—_.’/1ﬁﬁ
—i iﬂ——rT-——:T. I N¥¥*
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34 -

33 -

32 -

31

30 -

29

——

M_E

760 860
m=855,n FV0=0

600

T
900

T
1000

34

33 -

32 -

31

——

M_E

8é0
m=625,n FV0=0

T
865

42.5 -

42.0 -

41.5 -

41.0

40.5
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——

M_W

625 630

635

m=580, FV0=0

32 A

31

30 H

29 A

——

M_E

5é5
m=950,n FV0=0

580

T
590

34 -
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